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Exam Style Questions *

Composite Functions CorbettmOtths
Inverse Functions
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

- J
. )

Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings
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1. Given f(x) =

(a) Calculate the value of f(7)
[(3) ) _ IS .5
2 >

(b) Find f‘l(x)
X == L — +1— 15— [(2)

['a) =L e~ 73—
30— x~ 3x

2. Thefunctions f(x) and g(x) are given by the following:
f(x)=3x-1
gx)=2x+4

(a) Calculate the value of fg(2)

A o) = 6 +4 =%

(b) Calculate the value of ff(3)

F(’;) -2(2)-1 =%
‘} (%) - 3(%) -\ =1}
S PP(S) = L3
(c) Find gf(x)
39(1) = L[ 3 -1)44
= b -L+¢
= Goc 41
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3. Thefunctions f(x), g(x) and h(x) are given by the following:

fx)=x* -3
gx)=2x+1
h(x) = %

(a) Find fg(x) .
[90d) ‘.QUC*H> -5
x4 - %
(b) Find gh(x)
g = L (£)+|
= |

() Find f1(x)
X S Squaced > ~3 9 Fx)
p(x) & (oot &eth & o

e 2+3

4. The function fis such that f(x) = 4x —7

(a) Solve f(x) =17

boac->=17F
Tel x=6 |y

(b) Find £~ (x)
x =14 — - > M
P <=1 &—x
x4% x+}
=
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5. Given f(X) =x>+2 and g¥) =x+ 14

Find the values of a such that f(a) = g(a)
attlza+ly
qt-oo-1L=0
C&-#)(O\‘rs):O

) 0:4  Q=-3
& _,q, G-= -B ................................ (3)
6.  Thefunctions f(x) and g(x) are given by the following:
f(x)=8—3x
glx) = 4x

(a) Calculate the value of gf(3)
£B)~ %-30) = ~|
9(-\\ < L{-(“’) = "‘\" 9p(5‘) s -

(b) Solve the equation &f(x) = 80

() = y§-32] =3L ~\x

32“'7.1 =80
-~ -G8
x= -l XXz-Y

7 fx)=2x" -1
Find £~ (x)
=3 Squeved — kL —3 -1 1)
0 e Yook e—2v e— Hl e=x ) AT

% X{l oC+( 3)
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8. Given f(x)= x> +3x=5
Express f(2x — 1) inthe form ax2 + bx + ¢
Placn) = Q- +3(2xA) -5
1[‘-\-9:1—47.4-]} r[ex-3]) ~5
= bxt+2aa-2 boct+lx -3

9. The function fis such that f(x) = kx + 3 ?(2) - zk’,', 5

ongi =2x—4
The function g is such that g2(x) X 3(1'1.‘\’5) - Z[ZIL*'5J ~U
Given that f(2) = 34 (1) = iy )
work out the value of k LJ»L+ L - 3“""

10.  For all values of x, ‘l’
P 19(x) = (x o.)ﬁ

g(x) —x—0 ~ QC." H’x +8$
9H) = (x4 )~
- - X--5
xt-1p e +35 =X -5
| = 10
X =S

Solve fg(x) = gf(x)

L
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1. f(x)=x*+2x+1

Showthat f(x +2) —f(x) =4x+ 8
pOct2) = (4 ) + 2o
[ (x4 2) :[;L"H(—JL‘HO 4—(2)&“‘] + |
pOH) = " tee 9
PO - M) = [7&*"’“@'] - S.ILJ“ Lx 'J
= 2 +ex+a - x--Le-|
-~ Loty

3)
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